
www.certipik.com                                           Certi-Pik, USA                                         Litho in USA 2020



Item Part OEMPart DescQty

John Deere Stalk Lifter 20-12

STALK LIFTER BUNDLE - (IN-LINE & PRO THRU CP690) INCLUDES: 2x 78882,2x 

17561,1x 92708,1x 92709,1x 92710,1x 92711,4x 63525P,4x 08063P, 6x 63526P, 2x 

75625P, 4x 07192P

BN27253472534KIT 1

SHIELD - 9935, 9960-CP690, YELLOW PLASTIC R.H. (ILL.)KK17307173071.1 1

SHIELD - 9935, 9960-CP690, YELLOW PLASTIC L.H.KK17309173091.2 1

SHIELD - 9960, YELLOW PLASTICKK17311173112 1

SHIELD - 9935, 9965-CP690, YELLOW PLASTICKK17308173083 1

GUIDE - PLANT, (9935, 9960, 9965 IN-LINE)N273573735734 1

NUT - 5/16 - SERR HEX FLANGEN1021310213P5 AR

WASHER - .75 X .343 X .12"24H129201292P6 AR

WASHER - SPACER - STALK LIFTERT81931819317.1 1

WASHER - SPACER - STALK LIFTERN371361713617.2 1

WASHER - 1.0 X .343 X .06"24M729847298P8 AR

SCREW - 5/16 X 1" SERR HEX FLANGEN11220012200P9 1

SCREW - 3/8 X 1" - SER HEX FLANGE - THREAD CUTTINGH8818888188P10 AR

SCREW - M8 X 16mm - TORX DRIVE T40 - THREAD FORMINGN27615276152P11 AR

FRAME - 9935, 9960-CP690, STALK LIFTER R.H. (ILL)AN3721597215912.1 1

FRAME - 9935, 9960-CP690, STALK LIFTER L.H.AN3721587215812.2 1

LINK CHAIN - STALK LIFTER (9900-7760)AN1201372013713 1

WASHER - .406 X .810 X .060"24H130501305P14 1

BOLT - 3/8 X 3-1/2" HEX HEAD - GRADE 519H191201912P15.1 1

BOLT  - M10 X 90 - SMOOTH HEX FLANGE19M781107811P15.2 1

BOLT - 5/16 X 3/4" CARRIAGE03H154001540P16 2

GUIDE - STALK GUIDE (9960 IN-LINE)N1979719797117 1

ANGLE - STALK GUIDE (9960 IN-LINE)N1980649806418 1

NUT - 3/8 - SERR HEX FLANGEN1021510215P19 1

BOLT - 3/8 X 1" GRADE 5 CARRIAGE03H151901519P20 1

BOLT - 3/8 X 4" GD 5 CARRIAGE, UNITS W/ HEIGHT SENSING03H183701837P21 1

STALK GUIDE - 9965 ONLY - 3/16" THICK (ILL)N2731627316222.1 1

GUIDE - JD R.H. PRO STALK GUIDE - WILL FIT ON ALL PRO (9970-9996) MACHINES 

R.H. SIDE, AND L.H. SIDE: WHEN USING DOORS #74593 & #74587

N2760607606022.2 1

GUIDE - JD R.H. PRO STALK GUIDE - EXTRA LENGTH - WILL FIT ON ALL PRO (9970-

9996) MACHINES R.H. SIDE, AND L.H. SIDE: WHEN USING DOORS #74593 & 

#74587 - 1/4" THICK (ILL)

76060-XL76060-XL22.3 1

PLATE - JD L.H. PRO (9970-9996) STALK GUIDE - USE WITH DEEP DISH DOORS: 

#79557, 79558, & CTX DOORS

N3737197371922.4 1

GUIDE - STALK - R.H. (ILL.) 7760-CP690 - EXTRA THICK - (WHEN USED WITH 

#79096: ANGLE WILL FIT MODELS 9935, 9965-CP690 )

N3790987909822.5 1

GUIDE - R.H. PRO STALK GUIDE - EXTRA LENGTH - BOWL SAVER DESIGN - EXTRA 

THICK (1/4") - (WHEN USED WITH #79096: ANGLE WILL FIT MODELS 9935, 9965-

CP690 )

79098-XL79098-XL22.6 1

GUIDE - STALK - L.H. 7760-CP690 - EXTRA THICK - (WHEN USED WITH #79097: 

ANGLE WILL FIT MODELS 9935, 9965-CP690 )

N3790997909922.7 1

STALK LIFTER ANGLE - R.H. (ILL.) (9935, 9965, 9970-7760)N3729307293023.1 1

STALK LIFTER ANGLE - L.H. (9935, 9965, 9970-9996)N3729317293123.2 1

ANGLE - STALK GUIDE - R.H. (ILL.) 7760-CP690 - (WHEN USED WITH #79098: GUIDE 

WILL FIT MODELS 9935, 9965-CP690 )

N3790967909623.3 1

ANGLE - STALK GUIDE - L.H. 7760-CP690 - (WHEN USED WITH #79099: GUIDE WILL 

FIT MODELS 9935, 9965-CP690 )

N3790977909723.4 1

GUIDE - OUTER R.H. (SHORT) - (9920-CP690)N1927109271024.1 1

www.certipik.com                                           Certi-Pik, USA                                         Litho in USA 2020



www.certipik.com                                           Certi-Pik, USA                                         Litho in USA 2020



Item Part OEMPart DescQty

John Deere Stalk Lifter 20-12

GUIDE - OUTER L.H. (SHORT) - (9920-CP690)N1927119271124.2 1

GUIDE - INNER R.H. (LONG) - (9920-CP690)N1927089270825.1 1

GUIDE - INNER L.H. (LONG) - (9920-CP690)N1927099270925.2 1

PLATE - STALK LIFTER, (9935-CP690 IN-LINE & PRO))N3788827888226 1

CLAMP - STALK GUIDES, (9920-CP690)KK175611756127 1

SHOE - HEIGHT SENSING, STEEL, (9910-9986 SER:18000) - (WEAR RESISTANT AND 

HEAT TREATED)

N1916229162228.1 1

SHOE - HEIGHT SENSING ( 9986 SER:18001 - CP690 ) - (WEAR RESISTANT AND 

HEAT TREATED)

N3774207742028.2 1

ARM - STALK LIFTER (9935, 9965-7760)AN2752267522629 1

SHOE - STALK LIFTER, 9935, 9965-CP690N1998869988630 1

POINT - GATHERER (9935, 9965-7760)N2749207492031.1 1

SHOE - STALK LIFTER PRO - CAST - 9935, 9965-CP690 (REPLACES #74920)N3755947559431.2 1

POINT - GATHERER, (9935, 9965 IN-LINE)N2728517285132 1

PLATE - GATHERER, (9935, 9965 IN-LINE)N2728527285233 1

BOLT  - 5/16 X 3/4" - SERR HEX FLANGEN1021210212P34 1

POINT - GATHERER (9960)N1970649706435 1

BOLT - 3/8 X 3" HEX HEAD - GRADE 519H212802128P36 1

SHOE - STALK LIFTER (9960)N1962049620437 1

BUSHING - LIFTER ARM - FRONT ( 9935-9965 IN-LINE )M481054810538.1 1

BUSHING - FRONT, STALK LIFTER ARM (9970-CP690)A447054470538.2 1

ARM - 9960, STALK LIFTERAN1933959339539 1

SPACER - LIFTER ARM - REAR (9935-CP690 IN-LINE & PRO)N1992899928940 1

GUIDE - PLANT - PRO MACHINESN2754077540741 1

BOLT  - M10 X 20 - SMOOTH HEX FLANGE - GD 10.919M778407784P42 1

NUT - M10 - SERR HEX FLANGEE6352663526P43 1

BOLT - M10 X 30 ROUND HEAD - SQR NECK03M719207192P44 2

BOLT  - M10 X 25 - SERR HEX FLANGEN27562575625P45 1

PLATE - L.H. ROW GUIDEN3749937499346.1 1

PLATE - R.H. ROW GUIDEN3749947499446.2 1

WASHER - ROW GUIDE PIVOT BUSHINGN152541525447 1

PLATE - L.H. PIVOTN3730287302848.1 1

PLATE - R.H. PIVOTN3730297302948.2 1

BRACKET - STALK LIFTER CHAINN2735807358049 1

NUT - M8 - SERR HEX FLANGEE6352563525P50 1

WASHER - .410 X 1.5 X .120"24H173001730P51 1

BOLT  - M8 X 25 - SERR HEX FLANGE19M806308063P52 1

NUT - M8-1.25 - NYLON LOCK14M742607426P53 1

BOLT  - M10 X 80 - SMOOTH HEX FLANGE19M781007810P54 1

BOLT - M8 X 30 ROUND HEAD - SQR NECK03M718607186P55 1

www.certipik.com                                           Certi-Pik, USA                                         Litho in USA 2020


